
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Reading from the chart, we see that approximately 19.1% of normally distributed data is 

located between the mean (the peak) and 0.5 standard deviations to the right (or left) of 

the mean. 

(The percentages are represented by the area under the curve.)   

If you add percentages, you will see that approximately: 

   •  68% of the distribution lies within one standard deviation of the mean. 

   •  95% of the distribution lies within two standard deviations of the mean. 

   •  99.7% of the distribution lies within three standard deviations of the mean. 

 


